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1. With respect to the Census, consider the

following statements:

1.

The Census was first started under British
Viceroy Lord Mayo in 1872.

The first synchronous census in India was
held in 1881 and since then, censuses have
been undertaken uninterruptedly once
every ten years.

The
decennial Census rests with the Office of
the

responsibility of conducting the

Registrar General and Census
Commissioner, India under Ministry of

Statistics and Programme Implementation.

Which of the statement(s) given above is/are

not correct?

(@) 1 only
(b) 1 and 2 only
(c) 3only
(d) 2 and 3 only

Answer: c)

Explanation:

The census provides information on size,

distribution and socio-economic,
demographic and other characteristics of
the country’s population.

The Census was first started under British
Viceroy Lord Mayo in 1872. It helped in
framing new policies, government
programs to uplift areas of improvement in
the community.

So, statement 1 is correct.

UPSC JANUARY - 2022
DAILY CURRENT AFFAIRS CLASS TEST - 03

The first synchronous census in India was
held in 1881. Since then, censuses have
been undertaken uninterruptedly once
every ten years. So, statement 2 is correct.
The
decennial Census rests with the Office of
the

responsibility of conducting the

Registrar General and Census
Commissioner, India under Ministry of
Home Affairs, Government of India. So,
statement 3 is not correct.

The Census is one of the most credible
sources of information on the following:
Demography.

Economic Activity.

Literacy and Education.

Housing & Household Amenities.
Urbanization, Fertility, and Mortality.
Scheduled Castes and Scheduled
Tribes.

v’ Language.

AN N NN

2. Consider the following regarding the 103"

Constitutional Amendment Act:

1.

It amended the Constitution to extend 10%
reservation economically weaker sections
among all castes and communities,
including all Christians and Muslims.

The 10% reservation will be in addition to
the existing cap of 50% reservation for the
Scheduled Castes, Scheduled Tribes and
the Other Backward Classes, taking total

Reservation to 60%.
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Which of the statement(s) given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
Answer: b)

Explanation:

One Hundred Fourth

Amendment Bill was introduced to extend

and Twenty-

10% quota to “the economically weaker
sections in the general category that are not
covered by any of the existing schemes of
reservation”.

The bill was designed to amend the
Constitution to extend 10% reservation in
direct recruitment in government jobs and
for admission in higher educational
institutions to “economically weaker”
sections among all castes and communities,
Christians and Muslims included, who are
not eligible under the already existing
quotas.

It was amended because the issue was
related to the Fundamental rights Articles
15 (prohibition of discrimination on
grounds of religion, race, caste, sex or place
of birth) and 16 (equality of opportunity in
matters of public employment) of the
Constitution

The amendment was ratified in both Lok

Sabha and Rajya Sabha, by two thirds of
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members present and voting, and by the
legislatures of not less than half the states.
The 10% reservation will be in addition to
the existing cap of 50% reservation for the
Scheduled Castes, Scheduled Tribes and
the Other Backward Classes, taking total

reservation to 60%.

3. Which of the following are the conditions to be

included in the reservation for Economically
Weaker Sections (EWS)?

1.

Annual household income below Rs 8 lakh.

2. Agriculture land below 5 acres.
3.
4. Residential plot below 100 yards in notified

Residential house below 1000 sqft.

municipality.
Residential plot below 200 yards in non-

notified municipality area.

Select the correct answer using the codes given

below:

(@) 1, 2and 3 only
(b) 1, 3and 4 only
(c) 1,2,4and 5 only
(d) All the above

Answer: d)

Explanation:

All the above are the conditions are the

requirements for the reservation in EWS.
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4. Consider the following statements:

1. The Census provides a portrait of the Indian

population, while the SECC is a tool to
identify beneficiaries of state support.

Since the Census falls under the Census Act
of 1948, all

confidential, whereas all the personal

data are considered
information given in the SECC is open for
use by Government departments to grant

and/or restrict benefits to Households.

Which of the statement(s) given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both1and 2
(d) Neither 1 nor 2

Answer: ¢)

Explanation:

What is a Census?

The origin of the Census in India goes back
to the colonial exercise of 1881.

Census has evolved and been used by the
government, policymakers, academics, and
others to capture the Indian population,
access resources, map social change,
delimitation exercise, etc.

However, as early as the 1940s, W.W.M.
Yeatts, Census Commissioner for India for
the 1941 Census, had pointed out that “the
census is a large, immensely powerful, but

blunt instrument unsuited for specialized

inquiry.”
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What is SECC 2011?

The Socio-Economic Caste Census of 2011

was a major exercise to obtain data about

the socio-economic status of various
communities.

It had two components: a survey of the

rural and urban households and ranking of

these households based on pre-set
parameters, and a caste census.

However, only the details of the economic

conditions of the people in rural and urban

households were released. The caste data
has not been released till now.

SECC 2011 was conducted by three

separate authorities but under the overall

coordination of Department of Rural

Development in the Government of India.

v Census in Rural Area has been
conducted by the Department of Rural
Development (DoRD).

v Census in Urban areas is under the
administrative  jurisdiction of the
Ministry of Housing and Urban Poverty
Alleviation (MoHUPA).

v Caste

administrative control of Ministry of

Census is under the
Home Affairs: Registrar General of
India (RGI) and Census Commissioner

of India.
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Difference between Census & SECC:

o The Census provides a portrait of the Indian
population, while the SECC is a tool to
identify beneficiaries of state support.

e Since the Census falls under the Census Act
of 1948, all data are considered
confidential, whereas all the personal
information given in the SECC is open for
use by Government departments to grant

and/or restrict benefits to households.

5. Consider the following, with regard to

Doctrine of Lapse Policy:

1. It was an annexation policy followed
widely by Lord Dalhousie.

2. Under this policy the princely state that was
under the direct or indirect control of the
East India Company where the ruler did not
have a legal male heir would be annexed by
the company.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: c)

Explanation:

Doctrine of Lapse:

e It was an annexation policy followed
widely by Lord Dalhousie when he was
India’s Governor-General from 1848 to

1856. Hence, statement 1 is correct.

e According to this, any princely state that
was under the direct or indirect control of
the East India Company where the ruler did
not have a legal male heir would be
annexed by the company.

e Thus, any adopted son of the Indian ruler
would not be proclaimed as heir to the
kingdom. Hence, statement 2 is correct.

e By applying the doctrine of lapse,
Dalhousie annexed the States of:

Satara (1848 A.D.),

Jaitpur, and Sambalpur (1849 A.D.),

Baghat (1850 A.D.),

Udaipur (1852 A.D.),

Jhansi (1853 A.D.), and

Nagpur (1854 A.D.)
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6. Consider the following statements:

1. The GST compensation is paid out of
Compensation Cess every two months by
the Centre to states.

2. The taxpayers who have opted for the GST
composition scheme are not liable to
collect and remit the GST compensation
cess to the Central Government.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

Answer: c)

www.iasgatewayy.com ¢ Daily Current Affairs | Monthly Magazines | Online Tests 4|Page


http://www.iasgatewayy.com/

GATEWAYY

Explanation:

GST Taxation: The GST became
applicable from 1% July 2017 after the
enactment of the 101%
Amendment Act, 2016.

Constitution

With GST, a large number of central and
state indirect taxes merged into a single tax.
Compensation Cess:

The states are guaranteed compensation for
any revenue shortfall below 14% Growth
(base year 2015-16) for the first five years
ending 2022.

GST compensation is paid out of
Compensation Cess every two months by
the Centre to states. Hence, statement 1 is
correct.

The compensation cess was specified by
the GST (Compensation to States) Act,
2017.

All the taxpayers, except those who export
specific notified goods and those who have
opted for GST composition scheme, are
liable to collect and remit the GST

compensation cess to the central
government. Hence, statement 2 is correct.
Compensation Cess Fund: The GST Act
states that the cess collected and the amount
as may be recommended by the GST

Council would be credited to the fund.
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In context to the AMRUT Mission (Atal

Mission for Rejuvenation and Urban

Transformation),

consider the following statements:

1. It comes under the Ministry of Jal Shakti.

2. It’s one of purpose is to ensure that every
household has access to a tap with the
assured supply of water and a sewerage
connection.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: ¢)

Explanation:

AMRUT Mission (Atal Mission for

Rejuvenation and Urban Transformation):

e It was launched in June 2015

¢ It comes under the Ministry of Housing and
Urban Affairs. Hence, statement 1 is NOT
correct.

Components:

¢ Capacity building, reform implementation,

supply,
management, storm water drainage, urban

water sewerage and septage
transport and Development of Green
Spaces and parks.

e The reforms aim at improving delivery of
citizen services, bringing down the cost of

delivery, improving financial health,
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e augmenting resources and enhancing
transparency. It also includes replacement
of street lights with LED lights.

Purpose:

e To ensure that every household has access
to a tap with the assured supply of water
and a Sewerage Connection.

e Hence, statement 2 is correct.

e The Priority zone of the Mission is water
supply followed by sewerage.

e To increase the amenity value of cities by
developing greenery and well-maintained
open spaces (e.g., parks).

e To reduce pollution by switching to public
transport or constructing facilities for non-
motorized transport (e.g., walking and

Cycling).

. Consider the following statements with respect

to Sufism:

1. It gained prominence in the 10" and 11%
centuries during the reign of the Delhi
Sultanate.

2. The Chisti
Shihabuddin in

established in

Silsila was founded by
Baghdad
by Bahauddin

and was

India
Zakariya.

3. The Chistis accepted maintenance Grants
from the Sultans and took an active part in
politics.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 and 3 only
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(d)1,2and 3

Answer: a)

9.

Explanation:

¢ Many native Indian ideas, including yogic
postures, music, and dance, were absorbed
by Sufism in India. During the time of the
Delhi Sultanate in the 10th and 11th
centuries, Sufism rose to prominence.

¢ Khwaja Muin-ud-din Chisti (also known as
Gharib Nawaz) founded the Chisti order in
India in 1192 CE.

e The Chistis avoided the company of kings
and nobles, preferring to stay out of state

Politics.

Which of the following is a most likely

consequence of implementing the ‘Unified

Payments Interface (UPI)’?

(a) Mobile wallets will not be necessary for
online payments.

(b) Digital currency will totally replace the
Physical Currency in about two decades.

(c) FDI inflows will drastically increase.

(d) Direct transfer of subsidies to poor people

will become very effective.

Answer: a)

Explanation:

e The Unified Payments Interface (UPI) is a
real-time payment system designed by the
National Payments Corporation of India
(NPCI) to facilitate inter-bank transactions

through mobile phones.
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o UPI allows you to send money instantly
from your bank account to multiple
retailers without having to type in your
credit card number or your net banking or
wallet password.

e UPI is a payment mechanism that allows
you to send money from one bank account

to another using your smartphone.

10. With reference to Algal blooms, which of the
following statements is/are correct?

1. Algal blooms may occur in freshwater as
well as Marine Environments.

2. Harmful algal blooms can produce
extremely dangerous toxins that can sicken
or kill People and Animals.

Options:

(@) 1 only

(b) 2 only

(c) Both

(d) None

Answer: c)

Explanation:

e Algal blooms may appear in both
Freshwater and Marine Habitats.

e Overgrowths of algae in water are known
as harmful algal blooms. Harmful algal
blooms may produce very toxic poisons
that can make humans and Animals sick or

even kill them.
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1. Freedom of speech and expression is restricted e Reasonable restrictions on these grounds
under which of the following grounds? can be imposed only by a duly enacted law
1. Security of the State. ?g)d not by executive action. So, answer is
2. Friendly relations with foreign States. .
3. Public order. 2. Pangong Tso Lake, a disputed lake is
4. Decency and morality. sometimes seen in news. With respect to the
5. Executive action. same, consider the following statements:
Select the correct answer using the codes given 1. Pangong Tso or Pangong Lake in the
below: Himalayas is situated at an elevation of
(@) 1, 2, 3and 4 only 4,225 m extends from Ladakh, India to the
(b) 23, 4,and 5 only Tibetan Autonomous Region, China.
(c) 1, 3, 4,and 5 only 2. It is also a part of the Indus River basin
(d) All the above area.
Answer: a) 3. This is the first trans-boundary wetland in
Explanation: South Asia under the Ramsar convention.
« Right to freedom of speech and expression Which of the statement(s) given above is/are
is subject to reasonable restrictions being correct?
imposed under Article 19(2). (a) Lonly
e Out of the eight different grounds listed on (b) 1and 2 only
Article 19(2) of the Constitution, the (c) 1and 3 only
majority of hate speech laws are saved by (d)1,2and 3
the ‘public order’ exception. The eight ~ ANSWEr:c)

Explanation:

different grounds are; e Pangong Tso or Pangong Lake is an

1. Security of the State. endorheic lake (also called closed or

Friendly relations with foreign States. . . . .
y g terminal basins or internal drainage

Public order. systems or basins) in the Himalayas is
situated at an elevation of 4,225 m (13,862

ft).

Decency and morality.
Contempt of court.

Defamation.
' e Itis 134 km (83 mi) long and extends from

Incitement to an offence, and . .
Ladakh, India to the Tibetan Autonomous

e -

Sovereignty and integrity of India. . : :
Region, China. So, statement 1 is correct
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Approximately 60% of the length of the
lake lies within the Tibetan Autonomous
Region.

The lake is 5 km (3.1 mi) wide at its
broadest point. All together it covers 604
km?2.

During winter the lake freezes completely,
despite being saline water.

It is not a part of the Indus River basin
area and geographically a separate
landlocked river basin. So, statement 2 is
not correct

The lake is in the process of being
identified under the Ramsar Convention as
a wetland of international importance. This
will be the first trans-boundary wetland in
South Asia under the convention. So,

statement 3 is correct.

3. Which of the Indian states/lUTs share

International border with China?

1. Sikkim

2. Arunachal Pradesh
3.
4
5

Assam

. Jammu & Kashmir
. Ladakh

Select the correct answer using the code given

below:

() 1 and 2 only
(b) 1,2 and 5 only
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Explanation:

e India shares 3488 km of border with China
that runs along the states of Himachal
Pradesh, Sikkim, Uttarakhand, Arunachal
Pradesh and the Union Territories of
Ladakh too.

e After the bifurcation of Jammu & Kashmir
and Ladakh, China now shares its border
only with Ladakh and not with J&K.

| PEOPLES REPUBU
oF
CHINA

4. With respect to the Line of Actual Control

(LAC), consider the following statements:

1. India has maintained that the LAC passes
through Finger 8, which has been the site of
the final military post of China.

2. China, on the other hand, says the LAC
passes through Finger 2 and it has been
patrolling up to Finger 4- mostly in light
vehicles, and at times up to Finger 2.

Which of the statement(s) given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

(€) 1,2,4and 5 only Answer: )
(d) 1,2, 3,and 4 only
Answer: b)
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Explanation:

The Line of Actual Control (LAC) — the
line that separates Indian and Chinese
troops since 1962 — generally runs along
the land except for the width of Pangong
Tso. Here, it runs through water.
Both sides have marked their areas
announcing which side belongs to which
country.

India controls about 45 km stretch of the
Pangong Tso and China the rest.

The lake is divided into sections called
fingers. There are eight of them in
contention here. India and China have
different understanding of where the LAC
passes through.

India has maintained that the LAC passes
through Finger 8, which has been the site of
the final military post of China.

India has been patrolling the area — mostly
on foot because of the nature of the terrain
— up to Finger 8. But Indian forces have not
had active control beyond Finger 4.

China, on the other hand, says the LAC
passes through Finger 2. It has been
patrolling up to Finger 4- mostly in light
vehicles, and at times up to Finger 2.

So, both the statements are correct.
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5. Consider the following,

with regard to

Brahmaputra River:

1.
2.

It is known as Yarlung in China.

It originates from the Kailash range under
the name of Burhi Dihing.

Sadiya is a town in Arunachal Pradesh

where the river enters India.

Which of the statements given above is/are

correct?

(&) 1and 2 only
(b) 1 and 3 only
(c) 2and 3 only
(d)1,2and 3

Answer: b)

Explanation:

The Brahmaputra River originates under
the name of Siang or Dihang, from the
Chemayungdung glacier of the Kailash
range near the Mansarovar lake. Hence,
statement 2 is not correct.

It enters India west of Sadiya town in
Arunachal Pradesh. Hence, statement 3 is
correct.

The river is known as Yarlung Tsangpo in
China. Hence, statement 1 is correct.

Its tributaries include Dibang, Lohit, Siang,
Burhi Dihing, Tista, and Dhansari.

It is a perennial river and has several

peculiar  characteristics due to its
geography and prevailing climatic
conditions.
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The river is in itself dynamic as frequent
landslides and geological activity force it to

change course very often.

6. Consider the following, with reference to the
Jal Jeevan Mission (JJM):

1.

It aims to ensure assured tap water supply
to all rural households by 2030.

The fund sharing pattern between the
Centre and states is 90:10 for Himalayan

and North-Eastern States.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Bothland 2
(d) Neither 1 nor 2

Answer: b)

Explanation:

The Jal
launched in 2019, it envisages supply of 55

Jeevan Mission (JJM) was

litres of water per person per day to every

rural  household Functional
Household Tap Connections (FHTC) by

2024. Hence, statement 1 is not correct.

through

JIM looks to create a jan andolan for water,
thereby making it everyone’s priority.

It comes under Jal Shakti Ministry.

The mission ensures functionality of
existing water supply systems and water
connections, water quality monitoring and

testing as well as Sustainable Agriculture.
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It also ensures conjunctive use of
conserved water; drinking water source
supply
System, Grey water treatment and its reuse.

augmentation, drinking water

Features:

JIM focuses on integrated demand and
supply-side management of water at the
local level.

Creation of local infrastructure for source
sustainability measures as
like

groundwater recharge and management of

mandatory

elements, rainwater  harvesting,

household wastewater for reuse, is
undertaken in convergence with other
government programmes/schemes.

The Mission is based on a community
approach to water and includes extensive
Information, Education and
Communication as a key component of the

mission.

Funding Pattern:

The fund sharing pattern between the
Centre and states is 90:10 for Himalayan
and North-Eastern States, 50:50 for other
states, and 100% for Union Territories.

Hence, statement 2 is correct.

7. Consider the following, with regard to the draft

National Air Sports Policy (NASP):
1. The policy proposes the setting up of an

apex governing body called the Air Sports
Federation of India (ASFI).
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2. The ASFI will be an autonomous body
under the Ministry of Civil Aviation.

Which of the statements given above is/are

correct?

(@) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: ¢)

Explanation:

e The Ministry of Civil Aviation has released
a draft National Air Sports Policy (NASP)
that will require entities providing these
services and their equipment to be
registered, as well as be liable for penalties.

e The policy proposes a two-tier governance
structure for air sports in the country, which
will include an apex governing body called
the Air Sports Federation of India (ASFI)
and associations for each air sport. Hence,
statement 1 is correct.

e The ASFI will be an autonomous body

under the Ministry of Civil Aviation and

Each air sports association will lay down its
safety = standards  for  equipment,
infrastructure, personnel and training, and
specify the disciplinary actions to be taken
in case of non-compliance. Inability to do
so may lead to penal action by the ASFI.

It is proposed that popular air sports
attractions in the country such as Bir
Billing in Himachal Pradesh, Gangtok in
Sikkim, Hadapsar in Maharashtra and
Vagamon in Kerala can be declared as a
“control zone” for air sports in order to

ensure the safety of other manned aircraft.

8. With reference to Kaziranga National Park,
which of the following statements is/are
correct?

1. TItis designated as an ‘Important Bird Area’

by Birdlife International.

2. It is the home of the world’s most one-

Horned Rhinos.

3. UNESCO has declared Kaziranga National

Park as a World Heritage Site

will represent India at the Lausanne
(Switzerland)-headquartered  Fédération
Aéronaautique Internationale (FAI) and
other global platforms related to air sports.
Hence, statement 2 is correct.

It will provide governance over various
aspects of air sports, including regulation,
certification, competitions, awards and

penalties, etc.

Options:
(&) 1and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d)1,2and 3
Answer: d)
Explanation:
o Kaziranga National Park is a national park
located in the state of Assam. It hosts two-

thirds of the world’s great one-horned
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Rhinoceroses and is a declared World
Heritage Site.
It is also designated as an ‘Important Bird

Area’ by Birdlife International.

9. Basel Norms often seen in news seeks to

(a) Control Transboundary Movements of

Hazardous Wastes

(b) Strengthen the regulation, supervision and

Risk Management for more resilient banks

and banking systems

(c) Reduce Short-Lived Climate Pollutants

(d) Combat international tax avoidance by

multinational companies

Answer: b)

Explanation:

Basel norms or Basel accords are the
International Banking regulations issued by
the Basel Committee on Banking
Supervision. The Basel norms is an effort
to coordinate banking regulations across
the globe, with the goal of strengthening
the International Banking System.

It aims to strengthen regulation,
supervision and risk management for more

resilient banks and banking systems

10. Arrange the following hills from North to
South:

1.

Ramgarh Hills

2. Garhjat Hills
3.
4. Ponmudi Hills

Nallamala Hills
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Options:

(a) 1-2-3-4
(b) 2-4-1-3
(c) 2-3-4-1
(d) 1-4-2-3

Answer: a)

Explanation:

Garhjat Hills is located in the state of
Odisha

Nallamala Hills is located across the states
of Andhra Pradesh and Telangana

Ponmudi Hills is located in Kerala
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1. When a person is refused to renew FCRA (a) Both Statement 1 and Statement 2 are

registration for his NGO by unlawful means,
he is protected under which of the following
Fundamental Right?

(a) Article 21A.

(b) Article 14.

(c) Article 19.

(d) Article 32.

Answer: ¢)

Explanation:

Constitutional Provisions for NGOs in

India:

e Article 19(1)(c) on the right to form
Associations.

e Article 43 which highlights the State’s
having an Endeavour to promote
cooperatives in rural areas;

e Concurrent List in Entry 28 Mentions
about — Charities and charitable

Institutions, Charitable and Religious

Endowments and Religious Institutions”.

. Consider the following statements:

Statement 1: Under the Foreign Contribution
Regulation Act (FCRA) 2010, candidate
contesting the election is debarred from
receiving contribution.

Statement 2: FCRA comes under the purview
of the Department of Economic Affairs of
Ministry of Finance.

Which one of the following is correct in respect

of the above statements?

correct and Statement 2 is the correct
explanation of Statement 1

(b) Both Statement 1 and Statement 2 are
correct and Statement 2 is not the correct
explanation of Statement 1

(c) Statement 1 is correct but Statement 2 is not
correct

(d) Statement 1 is not correct but Statement 2
IS correct

Answer: c)

Explanation:

e As per FCRA 2010, the following
organizational individuals are debarred
from receiving foreign contribution. They
are
1. Candidate for election
2. cartoonist, editor, publishers of
registered newspaper

3. Judge,

employee of any corporation

government  servants  or
4. Member of any legislature
5. Political parties.

e Despite being a law related to financial
regulation, this law does not fall within the
purview of the RBI but under the Home
Ministry as it is internal security

legislation.

www.iasgatewayy.com

¢ Daily Current Affairs | Monthly Magazines | Online Tests

1|Page


http://www.iasgatewayy.com/

GATEWAYY

3. Galwan Valley, sometimes seen in news is

located in which of the following state/UT?
(a) Ladakh

(b) Jammu & Kashmir

(c) Sikkim

(d) Uttarakhand

Answer: a)

Explanation:

Photographs of Indian Army troops
holding a large tri-colour at the Galwan
Valley in eastern Ladakh as part of the New
Year celebration were released recently by

Sources in the Security Establishment.

4. With respect to differences between Section
144 and Curfew, which of the statement(s)

given below is/are correct?

1.

Section 144 prohibits gathering of four or
more people in the concerned area, while
during curfew people are instructed to stay
indoors for a particular period of time.

Section 144 also empowers the authorities
to block the internet access while Markets,
schools, colleges and offices remain closed
under the curfew and only essential

services are allowed to run on Prior Notice.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both1and 2
(d) Neither 1 nor 2

Answer: ¢)

UPSC JANUARY - 2022
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Explanation:

Both the statements are correct.

As the COVID third wave has started in
many  states/UTs, their  respective
Governments have planned for strict

Guidelines of Curfew.

5. Consider the following, with regard to Indo-

Israel Relations:

1.

India is Israel’s largest trade partner in Asia
and seventh largest globally.

Operation Breathing Space was conducted
by Israel to work with Indian authorities on
the Covid-19 response.

The Indian armed forces have inducted the
Phalcon AWACS (airborne warning and
control systems) from Israel.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 1 and 2 only
(c) 2 only
(d)1,2and 3

Answer: d)

Explanation:

India is Israel’s third-largest trade partner
in Asia and seventh largest globally.

Both countries currently have USD 4.14
billion of trade (April 2020 — February
2021), a figure that doesn’t include the
defence trade which has been increasing.

Hence, statement 1 is correct.
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Israeli companies have invested in India in
energy, renewable energy, telecom, real
estate, water technologies, and are focusing
on setting up Research & Development

centres or production units in India.

2020, an lIsraeli team arrived in India with
a multi-pronged mission, codenamed
Operation Breathing Space to work with
the Covid-19

response. Hence, statement 3 is correct.

Indian authorities on

o The first recipients of grants from the
6. In context to Nuclear disarmament, consider

Israel-India  Industrial R&D  and
Technological Innovation Fund (14F) were the following statements:
announced in  July 2018, including 1. India has neither signed the Nuclear Non-

Proliferation Treaty (NPT) the
Comprehensive Nuclear-Test-Ban Treaty
(CTBT).

2. Recently, the G7 countries, ahead of a

review of the NPT 1970, have pledged to

companies working to better the lives of nor

Indians and Israelis through efficient water

use, improving communications

infrastructure, solar energy use, and life-

changing surgeries.

e The Indian armed forces have inducted a prevent atomic weapons spreading and to

. . avoid nuclear conflict.
wide array of Israeli weapon systems over

the years, which range from Phalcon Which of the statements given above is/are

I)
AWACS (airborne warning and control caect:
(@) Lonly
systems) and Heron, Searcher-11 and Harop
(b) 2 only

drones to Barak anti-missile defence
(c) Both 1 and 2

(d) Neither 1 nor 2

Answer: a)

systems and Spyder quick-reaction anti-
aircraft missile systems.

e The acquisitions also include a host of

Explanation:

Israeli missiles and precision-guided

munitions, from Python and Derby air-to- * Recently, the Five permanent United

Nations Security Council members (China,
France, Russia, the U.K. and US) pledged

air missiles to Crystal Maze and Spice-
2000 bombs. Hence, statement 2 is correct.
e At the 15" Joint Working Group (JWG)
meeting on Bilateral Defence Cooperation

to prevent atomic weapons spreading and

to avoid nuclear conflict.
between India and Israel, both countries e The pledge was made in a rare joint
statement ahead of a review of the Non-
Proliferation Treaty (NPT) 1970. Hence,

Statement 2 is not correct.

agreed to form a Task Force to formulate a
comprehensive Ten-Year Roadmap to

identify new areas of cooperation
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e The statement comes as tensions between
Russia and the US have reached heights
rarely seen since the Cold War over a troop
build-up by Russia close to the Ukrainian
border.

o The Non-Proliferation Treaty (NPT) is an
international treaty whose objective is to
prevent the spread of nuclear weapons and
weapons technology, to foster the peaceful
uses of nuclear energy, and to further the
Goal of Disarmament.

e Presently, it has 190 member states.

e The NPT and the Comprehensive Nuclear-
Test-Ban Treaty (CTBT) are two of the
most important global efforts towards
nuclear disarmament. India has not signed
NPT and CTBT. Hence, statement 1 is

correct.

In context to the Open-source software,

consider the following statements:

1. It is a software that is distributed with its
source code.

2. It allows anyone to modify the software to
best fit their needs.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: c)

8.
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Explanation:

e Open source software (OSS) is software
that is distributed with its source code,
making it available for use, modification,
and distribution with its original rights.
Hence, statement 1 is correct.

e Source code is the part of software that
most computer users don’t ever see.

e It’s the code computer programmers
manipulate to control how a program or
application behaves.

e OSStypically includes a licence that allows
programmers to modify the software to best
fit their needs and control how the software
can be distributed. Hence, statement 2 is
correct.

e The idea of making source code freely
available originated in 1983 from an
ideological movement informally founded
by Richard Stallman, a programmer at
MIT.

e Examples of Linux, Mozilla Firefox, VLC

media player, SugarCRM, etc.

Which of the following statements is not

correct with regards to the Pangong Tso lake?

(a) Extending to almost 160 km, one-third of
the Pangong Lake lies in India and the other
two-thirds in China.

(b) It is situated at a height of almost 4,350 m
and is the world’s highest freshwater lake.

(c) Itis formed from Tethys Geosyncline.
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(d) Pangong Tso literally translates into a
“conclave lake” since Pangong means
conclave in Ladakhi and Tso means a lake
in the Tibetan language.
Answer: b)

Explanation:

e Pangong Tso is an endorheic lake spanning
Eastern Ladakh and West Tibet. It has a
land-locked basin separated from the Indus
River basin by a small elevated ridge, but is
believed to have been part of the latter in
prehistoric times.

o Lake Baikal is the highest freshwater lake.
It is in the southern part of eastern Siberia,

Russia.

9. Which one of the following statements is not
correct?

(a) Hepatitis B virus is transmitted much like
HIV.

(b) Hepatitis B, unlike Hepatitis C, does not
have a vaccine.

(c) Globally, the number of people infected
with Hepatitis B and C viruses are several
times more than those infected with HIV.

(d) Some of those infected with Hepatitis B
and C viruses do not show the symptoms
for many years.

Answer: b)

Explanation:

e There are vaccines to prevent hepatitis A
and hepatitis B; however, no vaccine is

available for hepatitis C.
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10. Consider the following statements with regards
to the Nuclear Non-proliferation Treaty:

1. Ever since it came into effect in 1970 after
it was opened for signing in 1968, the Non-
Proliferation Treaty has 187 nations who
are a party to it — more than any other arms
Limitation Treaty.

2. The Non-Proliferation Treaty prohibits the
nations who don’t have nuclear weapons
from acquiring them, at the same time
prohibiting the nuclear states from helping
others in acquiring the weapons.

3. The International Atomic Energy Agency,
which is the successor of the United
Nations Atomic Energy Commission,
verifies compliance with the treaty.

Choose the correct code:

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Answer: d)

Explanation:

e The Non-Proliferation Treaty or NPT is an
International Treaty whose objective is to
prevent the spread of nuclear weapons and
weapons  technology, to  promote

cooperation in the peaceful uses of nuclear

Energy, and to further the goal of achieving

Nuclear Disarmament and general and

Complete Disarmament.

e Opened for signature in 1968, the treaty

entered into force in 1970.
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1. Consider the following statements: e This Act assumed that the GST revenue of

1. The modalities of the compensation cess
were specified by the GST (Compensation
to States) Act, 2017.

2. This Act assumed that the GST revenue of
each State would grow at 14% every year,
from the amount collected in 2015-16,
through all taxes subsumed by the GST.

3. A State that had collected tax less than this
amount in any year would be compensated
for the shortfall.

4. The amount would be paid every two
months based on provisional accounts, and
adjusted every year after the State’s
accounts were audited by the Comptroller
and Auditor General.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 1 and 3 only

(c) 1,2 and 3 only

(d) All the above

Answer: d)

Explanation:

e Gross Goods and Services Tax (GST)
revenue collections in November 2021(for
sales in October) rose 25.3 per cent year-
on-year to Rs 1,31,526 crore.

e The modalities of the compensation cess
were specified by the GST (Compensation
to States) Act, 2017.

each State would grow at 14% every year,
from the amount collected in 2015-16,
through all taxes subsumed by the GST.

e A State that had collected tax less than this
amount in any year would be compensated
for the shortfall. The amount would be paid
every two months based on provisional
accounts, and adjusted every year after the
State’s accounts were audited by the
Comptroller and Auditor General.

e This scheme is valid for five years, i.e., till
June 2022.

e S0, all the statements are correct.

2. With respect to the Central Water

Commission,  consider  the  following

statements:

1. It was constituted as a statutory body under
the Water Act, 1974.

2. It presently functions as an attached office
of the Ministry of Jal Shakti.

3. The Commission is entrusted for the
purpose of flood control, irrigation,
navigation, and drinking water supply and
water power development.

Which of the statements given above are

correct?

(&) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Answer: b)

www.iasgatewayy.com

¢ Daily Current Affairs | Monthly Magazines | Online Tests

1|Page


http://www.iasgatewayy.com/

GATEWAYY

Explanation:

CWOC is a premier technical organization of
India in the field of water resources and is
presently functioning as an attached office
of the Ministry of Jal Shakti. So,
statement 2 is correct.

in 1974-1975 via a

notification. So statement 1 is not correct.

It was formed

The Commission is entrusted with the

general responsibilities of initiating,
coordinating and furthering in consultation
of the State Governments concerned,
schemes for control, conservation and
utilization of water resources throughout
the country, for the purpose of flood
control, irrigation, navigation, drinking
supply

development.

water and water power

So, statement 3 is correct.

3. Consider the following statements:

1. The Mullaperiyar Dam is a masonry

gravity dam on the Periyar River in the
Indian state of Kerala.

The Dam was given to British-ruled
Madras Presidency on a 999-year lease in
1886 and the agreement was renewed in
1970.

The dam is operated and maintained by

Tamil Nadu state.

Which of the statement(s) given above is/are

correct?

UPSC JANUARY - 2022
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(b) 1 and 2 only
(c) 1and 3 only
(d)1,2and 3

Answer: d)

Explanation:

The Mullaperiyar Dam is a masonry
gravity dam on the Periyar River in the
Indian state of Kerala.

The dam situated at the confluence of the
Mullayar and Periyar rivers

It is located 881 m (2,890 ft) above mean
sea level, on the Cardamom Hills of the
Western Ghats in Thekkady, Idukki
District of Kerala, South India.

It was constructed between 1887 and 1895
by John Pennycuick and also reached in an
agreement to donate water eastwards to the
Madras Presidency area (present-day Tamil
Nadu). The Periyar National Park in
Thekkady is located around the dam’s
reservoir. The dam is located in Kerala on
the river Periyar, but is operated and
maintained by Tamil Nadu state.

Dam was given to British-ruled Madras
Presidency on a 999-year lease in 1886.
The agreement was renewed in 1970.
Tamil Nadu was given rights to the land
and the water from the dam as well as the
authority to develop hydro-power projects
at the site, and Kerala would receive rent in

return.
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e S0, all the three statements are correct. 5. Consider the following, with regard to
Bioenergy Crops:
4. Consider the following statements: 1. Bioenergy crops can induce a cooling

1. Mekedatu is a multipurpose drinking and effect on the areas where they are

power project that involves building a Cultivated.

balancing reservoir in Tamil Nadu. 2. Wheat, corn, main edible oilseeds/edible

2. The project once completed is aimed at oils, sugarcane, and other crops are some of

ensuring drinking water to Bengaluru and the Bioenergy Crops.

neighboring areas (4.75 TMC) and also can
Generate 400 MW power.

Which of the statements given above is/are

correct?
Which of the statement(s) given above is/are (a) 1 only
correct? (b) 2 only
(a) 1 only (c) Both 1 and 2
(b) 2 only (d) Neither 1 nor 2
(c) Both1and 2 Answer: c)
(d) Neither 1 nor 2 Explanation
Answer: b) e A New Study has found that Converting
Explanation:

Annual crops to perennial bioenergy crops

* Mekedatu is a multipurpose (drinking and can induce a cooling effect on the areas

power) project. where they are cultivated. Hence statement

¢ It involves building a balancing reservaoir, 1'is correct

near Kanakapura in Ramanagara district in e The researchers simulated the biophysical

Karnataka. So, statement 1 is not correct. climate impact of a range of future

e The project once completed is aimed at bioenergy crop cultivation scenarios.

ensuring drinking water to Bengaluru and Eucalyptus, poplar, willow, miscanthus

neighboring areas (4.75 TMC) and also can
generate 400 MW Power.

and switchgrass were the bioenergy crops

used in the study.

* So, statement 2 is correct. e The study also demonstrated the

e The estimated cost of the project is Rs importance of the crop type choice, the
9,000 crore. original land use type upon which

bioenergy crops are expanded, the total

cultivation area and its spatial Distribution

patterns.
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Crops from which Biofuels are produced or
manufactured are called Biofuel crops or
Bioenergy Crops. “Energy crops” is a term
used to describe biofuel crops.

Wheat, corn, main edible oilseeds/edible
oils, sugarcane, and other crops are among
them. Hence statement 2 is correct.
Biofuels have a number of advantages over
fossil fuels, including the ability to burn
cleaner and emit fewer pollutants and
greenhouse gases, such as carbon dioxide,
into the sky.

They’re also environmentally friendly, and
energy

corporations  frequently — mix

Biofuels with Gasoline.

6. Consider the following:

1. A mutation Is asingle change in the genetic

material of the virus.

2. A variant Is the whole sequence of the

virus, which may contain one or more

mutations.

Which of the statements given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both1and 2
(d) Neither 1 nor 2

Answer: ¢)

Explanation:

Mutation, Variant and Strain:

When a virus replicates it doesn’t always

manage to produce an exact copy of itself.
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This means that, over time, the virus may
start to differ slightly in terms of its genetic
sequence.

Any changes to the viral genetic sequence
during this process is known as a Mutation.
The words ‘mutation’ and ‘variant’ are
sometimes used interchangeably, but they
mean quite different things. A mutation is a
single change in the genetic material of the
virus (RNA in this case). A variant is the
whole sequence of the virus (the genome),
which may contain one or more mutations.
Hence, statements 1 and 2 are correct.
When a new variant has different
functional properties to the original virus
and becomes established in a population, it
Is sometimes referred to as a New Strain of
the virus.

All strains are variants, but not all variants

are strains.

7. Consider the following with reference to

Savannas .

1.

Savannas grow in 40° to 60° latitudes from
the Equator.

Grasses and Trees that grow in the Savanna
have adapted to life with little water and hot

Temperatures.

Which of the statements given above is/are

correct?

(a) 1 only
(b) 2 only
(c) Both1and 2
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(d) Neither 1 nor 2

Answer: b)

Explanation:

Savannas:

Savanna, also spelled savannah, vegetation
type that grows under hot, seasonally dry
climatic conditions and is characterized by
an open tree canopy (i.e., scattered trees)
above a continuous tall grass understory
(the vegetation layer between the forest
canopy and the ground).

The largest areas of savanna are found in
Africa, South America, Australia, India,
the Myanmar (Burma)—Thailand region in
Asia, and Madagascar.

In general, savannas grow in tropical
regions 8° to 20° latitudes from the
Equator. Hence statement 1 is not correct.
Conditions are warm to hot in all seasons,
but significant rainfall occurs for only a few
months each year—about October to
March in the Southern Hemisphere and
April

Hemisphere.

to September in the Northern
Mean annual precipitation is Generally 80
to 150 cm although in some central
continental locations it may be as low as
50 cm.

The dry season Is typically longer than the
wet season, but it varies considerably, from
2 to 11

temperatures are about 10 to 20 °C in the

months. Mean monthly
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dry season and 20 to 30 °C in the wet
season.

Grasses and trees that grow in the savanna
have adapted to life with little water and hot
temperatures. Hence statement 2 is correct.
Grasses, for example, grow quickly in the
wet season when water is abundant and turn

brown in the dry season to conserve water.

8. Consider the following statements with regards

to Cotton Cultivation:

1.

Guijarat leads the states in India in terms of
Cotton Production.

Cotton requires well-drained black soil for
cultivation.

There is no MSP protection for cotton in

India.

Choose the correct code:

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1and 3 only
(d)1,2and 3

Answer: a)

Explanation:

Gujarat is the largest cotton-producing
state in India. The state accounts for around
30% of the total cotton production in the
Country.

Cotton requires well-drained black soil for
cultivation. Black soils are very fine-
grained and dark and contain a high
proportion of calcium and magnesium

carbonates.
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e They also have a high moisture retention
capacity which is required for cotton plants.
e Government announces minimum support

price (MSP) for raw cotton as well.

. “S-gene Target Failure Strategy”, often seen in

the news, is related to which of the following?

() It is used to ascertain if an individual has
developed antimicrobial resistance

(b) It is used to identify the success rate of
Gene Therapy

(c) Itis used to detect the Omicron variant of
Covid19

(d) 1t is used to produce the latest Anti-Covid
pills

Answer: ¢)

Explanation:

e The Indian Council of Medical Research
(ICMR) has approved a testing kit for
detecting the Omicron variant of SARS-
CoV-2.

e The kit will be used to confirm Omicron in
patients with its S-Gene Target Failure
(SGTF) strategy

10. Consider the following statements with regards

to the tribal rights in India:

1. 73" Constitutional Amendment Act makes
it mandatory for the seats to be reserved for
Scheduled Castes (SCs) and Scheduled
Tribes (STs) in proportion to their

population.
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2. Under the 73rd Constitutional Amendment
Act, one-third of the seats reserved for SCs
and STs are also reserved for women.

3. States with population up to 20 lakh are
exempted from providing reservations to
STs at all levels of panchayats.

Choose the correct code:

(@) 1&2only

(b) 2 & 3 only

(c) 1 &3only

(d) All of the above

Answer: a)

Explanation:

e 243B of the Indian Constitution states that
there shall be constituted in every State,
Panchayats at the village, intermediate and
district levels. However, it also states that
panchayats at the intermediate level may
not be constituted in a State having a
population not exceeding twenty lakhs.

e There is no such provision regarding the

reservation of seats for tribals.
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1. With reference to the difference between the 2. Consider the following with respect to the

Small Finance Banks and Payment Banks,

consider the following statements:

1. While Payment banks can undertake both
deposit and lending activity, the Small
Finance Banks cannot lend loans.

2. The Payment Banks cannot accept deposits
more than Rs 1 lakh, while the Small
Finance Banks has no restrictions like
Payment Banks.

Select the correct answer using the code given

below:

(@) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: b)

Explanation:

e Both Payment Banks and Small Finance
Banks are the differentiated banks which
have been set up to promote financial
inclusion. While Small Finance Banks can
undertake both deposit and lending
activity, the Payment banks cannot lend
loans.

¢ Further, the Payment Banks cannot accept
deposits more than Rs 1 lakh. The Payment
Banks need to invest 75 per cent of their
deposits in government securities with
maturity up to one year, and the balance 25

per cent with the Commercial Banks.

Small Finance Banks (SFB):

1. The minimum paid-up equity capital is Rs.
1000 crores.

2. They have no obligations to meet the CRR
and SLR requirements as they are not
covered under the regular formal banking
system.

3. Small finance banks can issue both credit
and debit cards, as well as internet banking
facilities.

Select the correct answer using the code given

below:

(a) 3 only

(b) 2 and 3 only

(c) 1and 2 only

(d) All the above

Answer: ¢)

Explanation:

o Eligibility — Professionals with 10 years of
experience in banking / finance / Micro
Finance Institutions.

e The minimum capital requirement is Rs
100 crore (minimum paid-up equity
capital).

e Local focus and ability to serve smaller
customers will be a key criterion in
licensing such banks.

e The bank shall primarily undertake basic
banking activities of accepting deposits and
lending to small farmers, small businesses,
micro and small industries, and

Unorganized Sector Entities.
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e It cannot set up subsidiaries to undertake
non-banking financial services activities.
After the initial stabilization period of five
years, and after a review, the RBI may
liberalize the scope of activities for Small
Banks.

e The area of operations would normally be
restricted to few districts (near-by) of a
state. However, if necessary, it would be
allowed to expand its area of operations
beyond contiguous districts in one or more
states with reasonable geographical
proximity.

¢ Small Banks have to meet RBI’s norms and
regulations regarding risk management.
They have to meet CRR and SLR
requirements, like any other commercial
bank.

e The maximum loan size and investment
limit exposure to single/group
borrowers/issuers would be restricted to 15
per cent of capital funds.

e For the first three years, 25 per cent of
branches should be in unbanked rural areas.

e Of the loans issued by Small Banks, 75%
should be to the so-called priority sector
which includes agriculture and small
businesses. And half the loan portfolio of
the banks should be loans and advances of
up to Rs.25 lakh to micro finance

businesses.
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e A robust risk management framework
should be followed and the banks would be
subject to all prudential norms and
regulations that are set by RBI. (These
norms are similar to the ones that are
applicable to the existing commercial
banks, like maintaining CRR & SLR etc.,).

3. Recently, Unmanned Aerial Vehicle (UAV)

were used for the first time to drop explosive
devices, triggering blasts inside the Air Force
Station’s technical area in Jammu. UAVS are
used in which of the following purposes?

1. Package Delivery

2. in Agriculture for spraying pesticides

3. Monitoring Environmental Changes

4. Aerial Photography

Select the correct answer using the code given
below:

(@) 1, 2and 3 only

(b) 2, 3and 4 only

(c) 1,3 and 4 only

(d) All the above

Answer: d)

Explanation:

e Drone is a layman terminology for
Unmanned Aircraft (UA). There are three
subsets of Unmanned Aircraft- Remotely
Piloted Aircraft, Autonomous Aircraft and
Model Aircraft.
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o Remotely Piloted Aircraft consists of
remote pilot station(s), the required
command and control links and any other
Components, as specified in the type
design.

e Besides combat use, drones are used for a
range of purposes like package delivery, in
Agriculture (spraying pesticides etc),
Monitoring  Environmental  Changes,
Aerial Photography, and during search and

Relief Operations, among others.

4. With reference to the Drone Rules, 2021,
which of the statement(s) given below is/are
not correct?

1. No flight permission required upto 200 feet
in green zones and upto 400 feet in the area
between 8 and 12 km from the airport
perimeter.

2. No pilot licence required for micro drones
(for non-commercial use), nano drone and
for R&D organisations.

3. No restriction on drone operations by
foreign-owned companies registered in
India.

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) 1and 2 only

(d) 1 and 3 only

Answer: a)

Explanation:

Digital sky platform shall be developed as
a business-friendly single-window online
system.

No flight permission required upto 400 feet
in green zones and upto 200 feet in the area
between 8 and 12 km from the airport
perimeter.

So, statement 1 is not correct.

No pilot licence required for micro drones
(for non-commercial use), nano drone and
for R&D organisations.

So, statement 2 is correct.

No restriction on drone operations by
foreign-owned companies registered in
India. So, statement 3 is correct.

Import of drones and drone components to
be regulated by DGFT.

No security clearance required before any
registration or licence issuance.

No requirement of certificate of
airworthiness, unique identification
number, prior permission and remote pilot
licence for R&D entities.

Coverage of drones under Drone Rules,
2021 increased from 300 kg to 500 kg.
This will cover drone taxis also.

Issuance of Certificate of Airworthiness
delegated to Quality Council of India and
certification entities authorised by it.
Manufacturer may generate their drone’s

unique identification number on the digital
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sky platform through the self-certification
route.

Maximum penalty under Drone Rules,
2021 reduced to INR 1 lakh. This shall,
however, not apply to penalties in respect
of violation of other laws.

Drone corridors will be developed for
cargo deliveries.

Drone promotion council to be set up to
facilitate a business-friendly regulatory

regime.

5. With reference to Caspian Sea, which of the

following statements is/are Correct?

1.

It is the world’s largest inland body of
Water.

2. The Caspian Sea is endorheic.
3. Volga, Ural, and Terek empty into the
Caspian Sea.
Options:

(&) 1and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d)1,2and 3

Answer: d)

Explanation:

The Caspian Sea is the world’s largest
inland body of water. It lies to the east of
the Caucasus Mountains and the west of the
vast steppe of Central Asia.

The sea’s name derives from the ancient
who once lived in

Kaspi peoples,

Transcaucasia to the west.

UPSC JANUARY - 2022
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It is an endorheic basin that lies between
Europe and Asia. The sea is bordered by
the by

Turkmenistan in the southeast, by Iran in

Kazakhstan in northeast,
the south, by Azerbaijan in the southwest,
and by Russia in the northwest.

The shores of the northern Caspian are low
and reflect the great accumulation of
alluvial material washed down by the Ural,
Terek, and Volga rivers that empty into the

sea whose deltas are extensive.

6. With respect to Pradhan Mantri Formalization

of Micro food processing Enterprises (PM

FME) Scheme,

which of the following

statements is/are correct?

1. Itisacentrally sponsored Scheme that aims
to enhance the Competitiveness of existing
individual ~ Micro-Enterprises in  the
Unorganized segment of the food
Processing Industry.

2. It has an outlay of Rs. 10,000 crores over a
period of five years from 2020-21 to 2024-
25.

Options:

(a) 1 only

(b) 2 only

(c) Both

(d) None

Answer: ¢)
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Explanation: e The Central Government will provide
e Pradhan Mantri Formalisation of Micro funds to the state based on the approved
Food Processing Enterprises (PM FME) Project Implementation Plan (PIP).
Scheme was launched on 29th June 2020. e One-District  One-Product  Approach
e Itisa part of Atmanirbhar Bharat Abhiyan. (ODOP) plan to be implemented to
e It is a centrally sponsored scheme. The encompass input procurement, common
share of expenditure under the PM FME services availability, and  product
Scheme is as follows: marketing.
e 60:40 between the Central Government and
state Governments and UTS with the 7. Consider the following statements:
Leai 1. As per Article 348 of the Constitution of
egislature
e 90:10 between central and North Eastern India, English is the Official Language for
. all the Courts in India.
and Himalayan states
) 2. The Governor of a state, with the consent
e 100 percent central assistance for UTs
: . of the Chief Justice of the relevant High
Without Legislatures.
) - Court, can Authorize use of official
e It aims to enhance the competitiveness of _ _
L ) . Language of the state in proceedings before
existing individual micro-enterprises in the I
. its High Court.
unorganized segment of the food
) ) Which of the statements is/are correct?
processing  industry and  promote
.. (@) 1only
formalization of the sector and support
N (b) 2 only
Farmer Producer Organizations (FPOs),
(c) Both
Self Help Groups (SHGs), and Producers
i o . (d) None
Cooperatives along their entire value chain.
_ Answer: d)
e Under the scheme, 2,00,000 micro food )
] ) ] _ ) Explanation:
processing units will be directly assisted
) o o e As per Article 348 of the Constitution of
with credit-linked subsidies. ’
India,
¢ Ithasan outlay of 10,000 crore and will run
. ¢ All proceedings in the Supreme Court and
for five years — 2020-21 to 2024-25.
) in every High Court (Not all the Courts).
e The central government will bear the
. ) ) . e The Authoritative texts of all,
expenditure for the first year irrespective of
. . o . . ¢ Bills to be introduced or amendments to be
who incurs it; later it will be adjusted in the
. . . moved in either House of Parliament or in
ratio mentioned above; in the next four
ﬂrc
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the House or either House of the
Legislature of a State,
Acts

Legislature of a State and all Ordinances

passed by Parliament or the

Orders, rules, regulations and bye-laws
issued under this Constitution.

“Shall be in the English language”.

The Governor of a State may, with the
previous consent of the President,
Authorized the use of the Hindi language,
or any other language used for any official
purposes of the State, in proceedings in the
High Court having its principal seat in that
State: Provided that nothing in this clause
shall apply to any Judgment, decree or

order passed or made by such High Court.

8. Consider the following, with regard to
Omisure Kit:
1. Itlsamade in India RT-PCR kit approved

by the Indian Council of Medical Research.
It uses S-Gene Target Failure (SGTF)
strategy and eliminates the step involving

Genome Sequencing.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Answer: c)

UPSC JANUARY - 2022
DAILY CURRENT AFFAIRS CLASS TEST - 07

Explanation:

Recently, the Indian Council of Medical
Research (ICMR) has approved a made-in-
India testing kit (RT-PCR Test), named
Omisure, for detecting the Omicron variant
of the SARS-CoV-2 coronavirus. Hence
statement 1 is correct.

The kit currently In use to detect Omicron
in the country has been developed by the
US-based

company Thermo Fisher.

scientific ~ instrumentation
Further, the World Health Organisation
(WHO) has proposed some measures to
strengthen laboratory capacities, with the
focus on Addressing Inequalities in access
to Covid-19 Diagnostics Tools.

The RT-PCR kit is manufactured by Tata
Medical and Diagnostics. It uses S-Gene
Target Failure (SGTF) strategy.

Currently, Omicron patients are detected
only after genome sequencing.

However, the Omisure test kit helps to
eliminate this step and detects the Omicron
SARS-CoV2 in the

nasopharyngeal/ oropharyngeal specimens

variant  of

during the RT-PCR tests. Hence statement
2 is correct.

The Omicron variant underwent several
mutations in the S-gene, the SGTF strategy
checks and indicates it in patients who are

Detected Covid positive.
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e ‘S’ Gene, ORF, ‘N’ gene, Rdrp, ‘E’ gene

are viral genes that are targeted to detect

Covid-19 virus.

with regard to

Jagannath Temple Odisha:

1. It was constructed by King Anatavarman
Chodaganga Deva of the Eastern Ganga
Dynasty.

2. It was also called the Black Pagoda by the
sailors.

Which of the statements given above is/are

correct?

(@) 1 only

(b) 2 only

(c) Bothland 2

(d) Neither 1 nor 2

Answer: a)

Explanation:

Jagannath Temple:

e The temple Is believed to have been
constructed in the 12" century by King
Anatavarman Chodaganga Deva of the
Eastern Ganga Dynasty. Hence statement 1
IS correct.

e Jagannath Puri temple is called ‘Yamanika
Tirtha’ where, according to the Hindu
beliefs, the power of ‘Yama’, the god of
death has been nullified in Puri due to the
presence of Lord Jagannath.

e This temple was called the “White Pagoda”

and is a part of Char Dham pilgrimages

10.

UPSC JANUARY - 2022
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(Badrinath, Dwaraka, Puri, Rameswaram).
Hence statement 2 is not correct.

e The Sun Temple of Konark was once called
the Black Pagoda by the sailors because it
was supposed to draw ships into the shore
and cause shipwrecks.

e There are four gates to the temple- Eastern
‘Singhdwara’ which is the main gate with
two crouching lions, Southern

‘Ashwadwara’, Western ‘Vyaghra Dwara’

and Northern ‘Hastidwara’. There is a
carving of each form at each gate.

e In front of the entrance stands the Aruna
stambha or sun pillar, which was originally

at the Sun Temple in Konark.

1031
2019,

Constitution
the

In context to the

(Amendment) Act,

following statements:

1. It Introduced the 10% EWS (Economically
Weaker Section) Quota.

2. Itamended Article 15 and Article 16 of the

Indian Constitution.

consider

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer: ¢)
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Explanation:

EWS Quota:

e The 10% EWS quota was introduced under
the 103" Constitution (Amendment) Act,
2019 by amending Articles 15 and 16.
Hence, Statement 1 is correct.

o It Inserted Article 15 (6) and Article 16 (6).
Hence, Statement 2 is correct.

¢ |t Is for economic reservation in jobs and
admissions in education institutes for
Economically Weaker Sections (EWS).

¢ Itwas enacted to promote the welfare of the
poor not covered by the 50% reservation
policy for Scheduled Castes (SCs),
Scheduled Tribes (STs) and Socially and
Educationally Backward Classes (SEBC).

e It enables both Centre and the states to

provide reservation to the EWS of society.
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1. Which of the following country is not a reviving Tehran’s nuclear deal with world

bordering country of Kazakhstan?

(a) Kyrgystan

powers flounder.

e There are seven countries that Iran shares

(b) China this long land border with.

(c) Tajikistan e These countries are Irag, Turkmenistan,

(d) Russia Afghanistan, Pakistan, Turkey, Armenia,
Answer: ¢) and Azerbaijan.

Explanation: e Of these countries, Turkmenistan shares

o Kazakhstan is bounded on the northwest
and north by Russia, on the east by China,
and on the
Uzbekistan,  the

south by Kyrgyzstan,

Aral Sea, and

the longest border with Iran, with the

border between the two countries

stretching 713 miles.

= S ey

- N S
. . = Arm.. Azer. = :
Turkmenistan; the Caspian Sea bounds Turkey LE\ durkmichicn
Kazakhstan to the southwest. ,
‘ Irag Afghanistan
Sy _Pakistan
1{(1‘ = ;{\ SR “"‘H
‘\_\:‘

. Which of the following country is not bordered

3.

In the context of Foreign Contribution

Regulation Act (FCRA) 2010, consider the

following statements:

1. Section 5 of the Foreign Contribution
(Regulation) Act, 2010 gives the Union

by Iran? government ‘“unchecked and unbridled
(a) Afghanistan powers” to declare an organisation as being
(b) Turkey one of political nature and deny it access to
(c) Iraq funds from Sources Abroad.
(d) Syria 2. FCRA is implemented by the Ministry of
Answer: d) Home Affairs.

Explanation: Which of the statement(s) given above is/are
o Iran displayed three ballistic missiles at an correct?

outdoor prayer esplanade in central Tehran (a) 1 only

recently as talks in Vienna aimed at (b) 2 only
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(c) Both1and 2
(d) Neither 1 nor 2

Answer: ¢)

Explanation:

FCRA regulates foreign donations and
ensures that such contributions do not
adversely affect the internal security of the
country.

The Act, first enacted in 1976 was amended
in the year 2010 and then 2020.

Section 5 of the Foreign Contribution
(Regulation) Act, 2010 gives the Union
government “unchecked and wunbridled
powers” to declare an organisation as being
one of political nature and deny it access to
funds from sources abroad.

FCRA is implemented by the Ministry of
Home Affairs.

So, both the statements are correct.

4. With respect to Adjusted Gross Revenue

(AGR), consider the following statements:

1.

Adjusted Gross Revenue (AGR) is the
usage and licensing fee that telecom
operators are charged by the Department of
Telecommunications (DoT).

from telecom

Revenues non-core

operations are excluded from the AGR.

Which of the statement(s) given above is/are

correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

UPSC JANUARY - 2022
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(d) Neither 1 nor 2

Answer: ¢)

Explanation:

According to a regulatory filing by the

company recently, Telecom operator
Bharti Airtel will not avail the option of
conversion of the interest on deferred
spectrum and AGR dues to equity, under
the reforms package.

Adjusted Gross Revenue (AGR) is the
usage and licensing fee that telecom
operators are charged by the Department of
Telecommunications (DoT). So, statement
1 is correct.

It is divided into spectrum usage charges
and licensing fees, pegged between 3-5
percent and 8 percent respectively.
Spectrum usage charges is the charge that
IS required to be paid by the licensees
providing mobile access services, as a
percentage of their Adjusted Gross
Revenue (AGR).

The spectrum slabs/rates for the same are
notified by the Government from time to
Time.

The Cabinet recently approved several
measures to extend a lifeline to the cash-
strapped telecom sector, including a
redefinition of the much-litigated concept
of adjusted gross revenue (AGR) to
exclude non-telecom revenue and a four-

year moratorium on players’ dues to the
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Government. So, statement 2 is correct.
The AGR directly impacts the outgo from
the pockets of telcos to the DoT as it is used

to calculate the levies payable by operators.

5. Keoladeo National Park is in the state of

(a) Rajasthan

(b) Madhya Pradesh
(c) Gujarat

(d) Himachal Pradesh

Answer: a)

Explanation:

Keoladeo National Park, located in the

State of Rajasthan, is an important
wintering ground of Palearctic migratory
waterfowl and is renowned for its large
congregation of non-migratory resident
Breeding Birds.

Itis the only park in India that is completely
enclosed by a 2 m high boundary wall that
minimizes the possibilities of any
encroachment and biotic disturbances.

The park was the only known wintering site
of the Central Population of the critically
Endangered Siberian Crane, and also
serves as a wintering area for other globally
threatened species such as the Greater

Spotted Eagle and Imperial Eagle.
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6. With respect to the Foreign Contribution

Regulation Act (FCRA), which of the

following statements is/are correct?

1. FCRA is implemented by the Ministry of
Finance.

2. Contributions made by a citizen of India or
by the P1O card holders living in another
country, from his/her Personal Savings,
through the Normal Banking Channels, are
not treated as Foreig